Puzzle 6119, Difficulty 10

19 | 49 | 8 19 1 9 |
'3 |715|4)69]2)1]|8
BN R R [N N N (R
91|47 (283|586
1’6’,’,’," : ; i i é’,iiii,,ﬁiiiﬁﬁ | ’2’2’1111 i
612 8311|5497
EE N N O S D
413|915 |712]6:{8|1:
716121819 |15 34
:1’4””1:::,: % —————— : :”1’7’:;::::,: % }’41113
85|16 3 (4|7 29
% :’1’5’111 ,ii:ij: i’o’iii ,ii:ij‘ : ’1’7’111 ,ii:ij‘ i i
114|312 |8(6}f9|75:
%f — ’251" ——— ”1’5;1" — :
51817194 |3|1]6]|2
1”\_’_)”" ,iiillj} é’,iiiiiiiiiiif’{é”" — :
2)9[6f1[>)7]8]4|3

Copyright (c) www.dailykillersudoku.com




